(/247 BE/FER]

#ER 1:250

y

H

&
{r
€
1
P
A
IN
{
— .
= (O¥exy E T
X
WUMNMWVV/ QNNOZ
G . ,bpmmeQNN
N 0
\N /\\N\/a\ XQN VOZ 0 D>
( 52 6H x 0 el lang
z\\rl - . NQ . QQO
D.tﬂhnmnm% IXQN 9oy > er .hN NAog
mNNI 00°Gz
X 06 Loy NAog
ee\QO
- n
eme.Q Cp
14
@0@
D\SmN@
§Qm
= "Mogzrg)
. BEy =
fLwDIxQ
&@Qﬁ @ONOZ

4 \5JIL)

TE (BRI =

L.
X A

a

FH 3 0EE

151

YERERUVET (Ruk—IL A L)

M

a

SERRVEBRMFTUHR—IL

i
#

BERUMEEY U R—IL
HREERUVEIEMEIATL

a.

EKERRUBIRE 1 AL

a

BE

—O0— | ¥

i

_Ot":i_

2

__O__

2!
Q%o
50NV
4o
1

g LB ' =[] Bd
S
W /_M_ H
R = “El |
=0 ‘ < 4
el |2
HHHBERE: i bl
NEHHEE
o[ 5|5 2 bl AR
%wm Bl | o il 1=
®|E ] | ~
& A=
mlel (2L e i
BH| & ] =
HERERE:
%%mﬁﬂmmﬁ HH
m|H|2|e|a|d ==




R3S O FERER (HBRAKX SR

& ft W E B (FETENER)

TEHA | KEHTKERRRZ L LATKEERHBIE (£0156

TSR B th A A 124 4

R| #£1:100. ##1:250 %‘ 2/2

su#s| (][] E] A EIE FE] 0

RES| 93-13

3 o y
M E R B8 Al &R
5 10 15 20 25 30 35 40 45 50
T T T T T T T T T |
I I I I I I I I I ]
L B X

I —r—rir= —
FETENPHE :H F
U |I]

ftHkER ( FR29F11A22H)
BEES BEER AFL

o oEw 7(9/3/0(0

. y % 1:100
# Br @ SR 18 1250

(/L7 B/IVER]

80.00
‘ 1E=77.190
0250
‘ 1E=77. 110
‘
X250 RRICHET 2 ARLERMRE R YD B &,
DL=70. 00m ﬁ} 1ﬁ1
s w & | M O[E]EI]E]E]E | | [ ]
= = @450V ©250WU
P ) 175 | 25.0 [ o0 9.0
=4 R B om 6 200 | 2.00 [ 2200 | 2.00 | 2.00 |1.45 13.1 3.8 2.8 4.0
NS -6p- 08 of 2.00 [ 200 | 2,00 1.0@0 od 145 13.1 3.8 2.8 4.0
* SE 3.083 3.685 0.000 1.494
= 0F = 0.490 0.586 0.000 0.073
& H 2 0.001
% &k & & &55& 3 2 z 2 5
RuEBBRE s 22 & & ggg g g g g g
- o o A R A A A
b E B o S P LT 5 £ =o e == = =
. . L8 ¥ ¥ b= 8 5 &3 X2 £ =2=N 22 &
B E = o0 8 o oo o o5 o o o e ~ ~r ~ ~
- & & LA IS NN NS IS
S + S I Y S Py > > >
. o S© ~ © © © © =~ © - 3 S o =]
B MM BE B s - « ~ < @ o S o P & b 3
N o o~ ~ Py o © © o= — o ww —
™ ™ ™ el = < [*2] ['=] w (Yo} o D™ < < o~
+* il Sc o o s = S o o oo = — — =
| b T 18 A BB L% (ROEHET)
X R T 1@ 3l — [® 1 — [ EE@xin 21 BRFHEL n (2@
E i T 78 5 WE TR
= T 18 Al PEHETER
T | J—
&% i & 1818 5 BERYY—=2J R (t=4cm) 9 [As&% (As t=5cm, RC-40 t=15km)
Al g J L sa—oy*o5%% (IRB t=8Jn #bt=3cm RC-40t=10cm)
# ] BEGIEE—LE ()

RS ERRTER]

X i@ B E B

1A/H

OBEMAR 21 RRFHRL=2.0n (2F)






